Operant & Classical Review
£ ook over classical conditioning diagrams and examples & Operant conditioning (S, SB, C, R)

1. Please describe CC’s response acquls1t10n (page 160 might be helpful).
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2. Explaln ...learning eventually reaches a point of d1m1msh1ng returns” — (page 160 might be helpful).
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3. “Classical conditioning is selective” '
Please explain the statement above... (page 162 in the book may be helpful)
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4. What does food aversion have to do with this? How is it an exception to the rule?
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5. Reinforcement vs. Punishment - What is the difference between the two?
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6. Descnbe a situation when you would use one over another.
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- Renfecement = eed behwiee o cortiane.

7. What conditions have to be met in order for pux}ishment to bp effective?
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8. What are drawbacks to using pumshment‘? .
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